0.05]

-0.05

|
I
s

-0.15

Ratio

< 00, > (M)

RatioI

<opyp, > ()

<d @> (rad)
o
=
a1

I
©

o
[N

X

N

(=]
&

o
N

o
3]

(k=]

LT ]
3 -2

2

3

TP n (PCA to beamline)

X

=

o
&

< o cot(y) >
o
=
a1

o
LR L L S L L RN AR

RatloI
o
: saiaig

i

1

2 3

TP n (PCA to beamline)

—=— DQM_mKkFit_TToriginal
—e— DQM_mkFit_TTNEWHS_ALLITERS
—— DQM_mkFit_ TTNEWHSMS_ALLITERS

100

@
(@)

N O
o O
T

LI LI LI L L L L L L

20

............................................

...........................................

............................................

H 2 }

0

3

TP n (PCA to beamline)

0 T 2

3

TP n (PCA to beamline)

<od,> (um)

I RTINS

o A § A 4R

-1

0

1

2 3

TP n (PCA to beamline)



	Contents
	Page 1


